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Warm-Up

. What is the smallest of 3 consecutive positive integers if the product of the smaller

23

two integers is 5 less than 5 times the largest integer?

The larger leg of a right triangle is 3 cm longer than its smaller leg. The
hypotenuse is 6 cm longer than the smaller leg. How many centimeters long is the
smaller leg?

key on next page

-

2. What is the smallest of 3 consecutive positive integers if the product of the smaller
two integers is 5 less than 5 times the largest integer? X

i ™ 1 x 2™ - 54345 (X-8)Xt)) =0

7'::" X KRt = BXEDS  x-G=05 x+1=0

EalR L X¥+x = 5X+10-S [X=5] x=-|
2 . ™
WA =BRES Answer must
X*-ux-%5:=0 e positive

3. The larger leg of a right triangle is 3 cm longer than its smaller leg. The
hypotenuse is 6 cm longer than the smaller leg. How many centimeters long is the

smaller leg? o ¥ - o

R-lgX-21=0
Smail+ X 2 3 X'ﬁ'b\z
Lavge: %+ 3 ’i r (03) )%bﬁbl'&*b\ (x-aYx +3)=0

Y\'L-t xzybx‘fqt Kz‘i 2x+3 X q v 3
L0+ X T WK E p
—:‘ -\ -3 =% - “gf

4. Which term is a factor of 3a® + 12a ? e ncgo.h'vb
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1. Which graph displays the function f(x)=(2x + 3)(x - 2)? X = -3’2 g
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N =w? + 4w

N=w"+ 6w

N=w"+6w+8

(e~ 6)(E6)"
(t + 6)(t - 6)>
(t - 12)(t - 3)

(t-"12)(t + 3)

@ N=w"+ 8w+ 12

3 Which expression is equlvalent to t* - 36?

"+ 0t -3

2 The floor of a rectangular cage has a length 4 feet greater than its width, w. James
will increase both dimensions of the floor by 2 feet. Which equation represents the
new area, N, of the floor of the cage?
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4 Which i the graph of the function f(x) = 4x° - 8x + 7? ,
% Ty y-intercept
¥
—— ¥ * TTTT T T T T -
L1 | e
Vg | i 11
e % | B . -
L —~t —1—1 - o] e
4 ! ¥
- |
L gl |
T \
W - EEREEEETITEECERE oa,!npx i) l!ﬁ!‘,!j?oto EE T EEE X.
i - " A I
B |
1O ; i Ny
‘ + SFHNAL
7 ? &
8T ' s
3 5
“F | L1 111 1 1 1 ] | -
c , © ,
b
- ] u
" vl |- N
| L1 b
‘. i HoA
| / " 5 AN
E EREENELEEE +5 EE NE FENEEEEY LK IR e
i " il ke B M Al Bk -
Wi | " TTTTTT I
N T AT NN :
T s i . £
41 -5 Sl g
B -
a 8|
L 4 I ¥ |. 7
HERGE NN hy

5 Suppose that the equation V = 20.8x" - 458.3x + 3,500 represents the value
of a car from 1964 to 2002. What year did the car have the least value?

(x = 0in 1964) h Y , MininmLM
o LY T OX(S Of
A 1965 x=-0_ .~ (-498.3) i
B 1970 L e ..a)'
@ o 2 7 Q4
&, Ay, = USR.D . 1\ years +

D 1980 : =222 =\ \yta

' $1. \a1s

6 The number of bacteria in a culture can be modeled by the function
N(t) = 28 - 30t + 160, where t s the temperature, in degrees Celsius, the
culture is being kept. A scientist wants to have fewer than 200 bacteria in a
culture in order to test a medicine effectively. What is the approximate domain of
temperatures that will keep the number of bacteria under 200?

A 1.019C<t<203c LBt -30LTLO=20 = 16t Jrey. g(MY-20)

1 - -
B -0.90°C < t < 1.97°C 2?*’,_'3‘:1 _"_:g_% 2.(w)
C  "0.86°C < ¢ < 1,93°C Wt - %: 152 3,1
o= b==\§ c-—'\?ﬁ : 20 X \5'3“'—1
@ -0.77°C < t < 1.85°C \ T
X181 g 2 =05
7 Which equation has exactly one real solution? 28

A 45’ - 12x -9 =10 g‘:ﬂphj Wn ¥~ %0 Sece Wh'c'h

4x® =
+12x+9=0 one. GO Cxosses the X-ox\S
C 4 -6x-9=0 ) \
D

ones .
4> +6x+9=0
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8 The sum of two numbers is 24. The sum of the squares of the two numbers is 306.
What is the product of the two numbers?

119 L R¥YYy=24 b I L?H-ﬂ"'=3(3¢a X*-24% +135=0

A

B 128 | X'ry®=2300 Xt (=% Y24-X) =300 (x-15YA-4) *?D
© 135 Wy, 4.y X5l iguxX'=300 e x-.qq
o1 J 2XF - 4@X 5707 300 X=1%  X*

2x* - 48X 1 279 =0

The heights of two different projectiles after they are launched are modeled by f(x)
and g(x). The function f(x) is defined as f(x) ="16x" + 42x + 12. The table

contains the values for the quadratic function g. £od 0 +
s nox 39 b Fee

-lbX" v 4oy +9 x f(*) god mox: 3u
+aple. 1o 08 ¥
THT 1 %] M3

W 4 =

What is the appmxfﬁ:ats difference in the maximum heights achieved by the two
projectiles? b,

0.2feet | 29 .0
3.0 feet ~-34.0
5.4 feet s.lo feet

A
B
C
@ 5.6 feet

N =3 4L - 2%~
1 O Which expression is equivalent to —3x(x — 4) — 2x(x + 3)? A2 -2 b
(1) 22— 1 (3) —5x2 — 6x ~5%* +o
(2) —x? + 18x @ 5%+ 6x

1 1 The length of a rectangle is 3 inches more than its width. The area of (wzYw) = 4o
the rectangle is 40 square inches. What is the length, in inches, of the

rectangle? Length | W3 wh+ 3w = 1O
(1) 5 (3) 85 i i w?+ 3w -40=0
8 4) 11.5 e %)= 0
2] hea b LW (Wil w-S
i Wit B T ) UJ'S D
1 2 Which expression represents 36x% — 1004° factored completely? we=-% @
(1) 2(9x + 254%)(9x — 254%) § ¥ T .
® 46 +5E: -5  HlAn =29y ) tan’y oo Negohve

(3) (6x + 10y%)(6x — 10y%) . ! 33
(4) (18x + 50y%)(18x — 5049) H(3x- Sy 3% A8y

1 3 What are the roots of the equation -5y +6=07 (X - 2.‘,’(3{' 3) =0
(1) 1and -6 (3) =land 6 w-2:=0 X-3=0
@ 2and3 {4) —2and —3 e 2 X =
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1 4 :1":":;’ e"f’;{‘:s“""]‘s e tt:)ﬁ? xsi( 5) Uipterence. of Squares
- - X i - - . N ) J'
& 8- x)(8+2) (4) (x — 8)x + 8) N-ybe  Or-yx 4)

1 5 The equation of the axis of symmetry of the graph of y = 2¢® — 3¢ + 7
is

a 3 1'\'-:—‘2---.-.'_2.9_:1'
@:=7 @) x=7 200 2u2) M
@ y=2 @y=3

1 6 The roots of the equation 3:% — 27x = 0 are 3N (% -OI\J =0
@ 0and 9 (3) Oand 3
(2) 0and -9 (4) Oand -3
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